FA-H7074-)b:

(8 4] DA10sx1

[BXZ] Multifunction Decoder
(8Bl RILFT70D Y3y 714

[7ELA] 3

CcvV  |EkHH & 16 |[VATY B30

Ccvl [E7FLA 3 0x03 0000 0011

cvl |glEsutN-YavES 6 0x06  [0000 0110

cvs |HELSHID 103 0x67 0110 0111 |SNJPN:Nagasue System Design Office

cVil |I\Ty I L7D ME 0 0x00  |0000 0000

CV17 [HhiE7 FLA 192 OxcO  |1100 0000

CVi8 [HhsE7FLA 0 0x00  |0000 0000

CV19 [#IET7ELA 0 0x00  |0000 0000

CV21 [#84E7 FL A% F1-F8 255 Oxff 1111 1111

CV22 |#M3F7 RL ARt FL-F9-F12 |255 Oxff 1111 1111

CV29 ERER TE#1 22 0x16  |0001 0110 |bit5=2byte,
bit2=7F O 1k
bit1=FL,
bit0=75 A

CV35 |FX1 96 0x60 |0110 0000 |bit7=END#{HI(2END),
bit6=END#I|fEI(1END),
bit5=75 R EH A zh1k,
bit4= & KT 75 [AI(=0:Fl) (=11%),
bit(0-3) = Fno§E(0-12) ,14=5 M «T

CV36 [FX2 113 0x71 |0111 0001 |bit7=ENDIEI(2END),
bit6=END#|{EI(1END),
bits=75 M EHA =1k,
bitd=g kT A (=0:Fi) (=118),
bit(0-3) = FnoEiE(0-12) ,14=H = &T

CV37 |FX3 3 0x03  |0000 0011 |bit7=END#{HI(2END),
bit6=END#I|fEI(1END),
bits=75 R EH A zh1k,
bit4= & KT 75 [AI(=0:Fl) (=11%),
bit(0-3) = Fno3gE(0-12) ,14=H = KT

CV38 [Fx4 3 0x03  |0000 0011 |bit7=END#I#H(2END),
bit6=END#|{EI(1END),
bits=75 M EHA =1k,
bitd=5 kT /5 RI(=0:A1) (=11%),
bit(0-3) = FnogE(0-12) ,14=H = &T

CV39 |FX5 4 0x04  |0000 0100 |bit7=END#{HI(2END),
bit6=END#I|fEI(1END),
bits=75 R EH A zh1k,
bit4=52 kT /5 RI(=0:A1T) (=11%),
bit(0-3) = Fno§TE(0-12) ,14=5 s T

CV40 |FX6 5 0x05  |0000 0101 |bit7=END#I#H(2END),
bit6=END|f#I(1END),
bits=75 M EHA =1k,
bitd=g kT A (=0:Fi) (=118),
bit(0-3) = FnoEE(0-12) ,14=H = «T

CV41 |FX7 6 0x06  |0000 0110 |bit7=END#{EH(2END),
bit6=END#I|fEI(1END),
bits=75 R EH A zh1k,
bitd= & KT 75 [AI(=0:Fl) (=11%),
bit(0-3) = Fno3&E(0-12) ,14=F = KT

CV42 |Fx8 7 0x07  |0000 0111  |bit7=END#I#H(2END),
bit6=END#|{EI(1END),
bits=75 M EHA =1k,
bitd=5 kT /5 RI(=0:A1) (=17%),
bit(0-3) = Fno§%E(0-12) ,14=HF = «T

CV46 |LOCK FX DIR 15 0x0f  |0000 1111

CV49 |Product No 171 Oxab 1010 1011

CV50 |Sound Volume 255 Oxff 1111 1111

CV58 |DC_MODE 0 0x00  |0000 0000 |(bit7..bit0) = (F7..FO)

CV59 |DC_MODE 0 0x00  |0000 0000 |(bit4.bit0) = (F12..F8)

CV60 |DA10sx1 Specific 216 0xd8  [1101 1000 |bit7=AccFxMode,

Configuration bit6=Exsw by Fnumber
bit3=AckFull
CV61 |EiEmERTE 3 0x03  |0000 0011 |bit1=2ENDH £ XT,bit0=1END{H £ KT
CV62 |FX FxDecay / FxRate 196 Oxc4 1100 0100 |FxDecay(bit7-4),
FxRate(bit3-0)

CV63 |¥isRFXEASA 64 0x40  |0100 0000 |bit7=END#I{HI(2END),
bit6=END#|{EI(1END),
bits=74 M EHA =1k,
bitd=5 kT /5 RI(=0:A1) (=11%),
bit(0-3) = Fnog%E(0-12) ,14=HF = «T

CV105 |FTA & EE #1 0 0x00 0000 0000

CV106 | FREEE = #2 0 0x00 0000 0000
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cv

B

fE

163

NATY

B3

CV112

F1RREE /KT K32

248

0xf8

1111 1000

bit(7-H)iBIEIE
bit(3-0)KT A F& Al
0000=normal
0001=flushing
0010=fast flushing
0011=beacon
0100=1strobe
0101=2strobe
0110=flicker
0111=FL light
1000=fade light
10001=flushing reverse

CV113

F2BR /KT KFEFI

240

0xf0

1111 0000

bit(7-4)iB LB
bit(3-0)KT A F& Al
0000=normal
0001=flushing
0010=fast flushing
0011=beacon
0100=1strobe
0101=2strobe
0110=flicker
0111=FL light
1000=fade light
10001=flushing reverse

CVi14

FIEREE /KT KFEFI

241

0xf1

1111 0001

bit(7-4)iB LB
bit(3-0)KT A F& Al
0000=normal
0001=flushing
0010=fast flushing
0011=beacon
0100=1strobe
0101=2strobe
0110=flicker
0111=FL light
1000=fade light
10001=flushing reverse

CV115

FABRE /KT KFEFI

249

0xf9

1111 1001

bit(7-4)iB LB
bit(3-0)KT A F& Al
0000=normal
0001=flushing
0010=fast flushing
0011=beacon
0100=1strobe
0101=2strobe
0110=flicker
0111=FL light
1000=fade light
10001=flushing reverse

CV116

FSEREE /KT KFEFI

240

0xf0

1111 0000

bit(7-4)iB LB
bit(3-0)KT X F& Al
0000=normal
0001=flushing
0010=fast flushing
0011=beacon
0100=1strobe
0101=2strobe
0110=flicker
0111=FL light
1000=fade light
10001=flushing reverse

CvV117

F6EREE /KT KFEFI

240

0xf0

1111 0000

bit(7-4)iB LB
bit(3-0)KT A F& Al
0000=normal
0001=flushing
0010=fast flushing
0011=beacon
0100=1strobe
0101=2strobe
0110=flicker
0111=FL light
1000=fade light

10001=flushing reverse
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CcV

B

fE

165

NATY

B3

CV118

F7EBEE /KT KFEFI

240

0xf0

1111 0000

bit(7-H)iBIEIE
bit(3-0)KT A F& Al
0000=normal
0001=flushing
0010=fast flushing
0011=beacon
0100=1strobe
0101=2strobe
0110=flicker
0111=FL light
1000=fade light
10001=flushing reverse

CV119

FSHEREE /KT KFEFI

240

0xf0

1111 0000

bit(7-4)iB LB
bit(3-0)KT A F& Al
0000=normal
0001=flushing
0010=fast flushing
0011=beacon
0100=1strobe
0101=2strobe
0110=flicker
0111=FL light
1000=fade light
10001=flushing reverse

CV120

sound Mode

128

0x80

1000 0000

bit7=7F0OT 9 R R
bit6= 7L SWHERE

bit5=

bit3=

bit2=

bit0=

CVi21

sound Mute

28

Ox1c

0001 1100

bit(0-3) = Fno¥g%E(0-12) ,14=H{F &}
*F25 CYEE)

CV122

sound 01

224

Oxe0

1110 0000

bit(6-7)=-F & 4EXBE
bit5=1:loop 2:no,
bit(0-4) = Fnof& T (0-28)

Cvi23

sound 02

225

Oxel

1110 0001

bit(6-7)=5 & 4EXME
bit5=1:loop 2:no,
bit(0-4) = Fnots F(0-28)

CV124

sound 03

226

Oxe2

1110 0010

bit(6-7)=-F & 4EXFE
bit5=1:loop 2:no,
bit(0-4) = Fnof& T (0-28)

CV125

sound 04

227

Oxe3

1110 0011

bit(6-7)=5 & 4EXME
bit5=1:loop 2:no,
bit(0-4) = Fnots F(0-28)

CV126

sound 05

228

Oxe4

1110 0100

bit(6-7)=-F & 4EXFE
bit5=1:loop 2:no,
bit(0-4) = Fnof& T (0-28)

Cvi27

sound 06

229

Oxeb

1110 0101

bit(6-7)=5 & 4EXME
bit5=1:loop 2:no,
bit(0-4) = Fnots E(0-28)

CV128

sound 07

230

Oxeb

1110 0110

bit(6-7)=-F & 4EXFE
bit5=1:loop 2:no,
bit(0-4) = Fnof& T (0-28)

CV129

sound 08

231

Oxe7

1110 0111

bit(6-7)=5 & 4EXM&
bit5=1:loop 2:no,
bit(0-4) = Fnots F(0-28)

CV130

sound 09

232

Oxe8

1110 1000

bit(6-7)=-F & 4EXFE
bit5=1:loop 2:no,
bit(0-4) = Fnof& T (0-28)

CV131

sound 10

233

Oxe9

1110 1001

bit(6-7)=5 & 4EXME
bit5=1:loop 2:no,
bit(0-4) = Fnots E(0-28)

CV132

sound 11

234

Oxea

1110 1010

bit(6-7)=-F & 4EXBE
bit5=1:loop 2:no,
bit(0-4) = Fnof& T (0-28)

CV133

sound 12

235

Oxeb

1110 1011

bit(6-7)=5 & 4EXME
bit5=1:loop 2:no,
bit(0-4) = Fnots E(0-28)

CV134

sound 13

236

Oxec

1110 1100

bit(6-7)=-F & 4EXFE
bit5=1:loop 2:no,
bit(0-4) = Fnof& T (0-28)

CV135

sound 14

237

Oxed

1110 1101

bit(6-7)=5 & 4EXME
bit5=1:loop 2:no,
bit(0-4) = Fnots F(0-28)

CV136

sound 15

238

Oxee

1110 1110

bit(6-7)=-F & 4EXBE
bit5=1:loop 2:no,
bit(0-4) = Fnof& T (0-28)

CV137

sound 16

239

Oxef

1110 1111

bit(6-7)=5 & 4EXME
bit5=1:loop 2:no,
bit(0-4) = Fnots F(0-28)
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